48+5x20-35=[ |




® (51+22)x6

@ (26-3)x8

@® 55-(28-9)

® 99-(12+3)

@ 90— (34-1)
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544 {24 + (16 — 4) X 8}

® 54+ 24

@ 24x8

@ 4x8

® 16-4

® 24 =16
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D 58 -33+29 @ 35+ 60— 46
® 100 - (25 + 50) @ 23+ (98 -66)

® 28-15+9






142 - 121 = 11x|_|=154
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6-64+3+3+2=5

D 6-6+(3+3+2)=5 @ 6-6+3=+(3+2)=5
® (6-6+3)+3+2=5 @ 6-(6+3)+3+2=5

® (6-6)+3=(3+2) =5
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@:9+(3x%x3)
©:8x(6+3)
©:12+(3x2)
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184 — 78 = 106
106 X 6 = 636
636 +~ 3 = 212

D 184 —{(78 x 6)} + 3 = 212
® {(184 —78) x 6} + 3 = 212

® 184 — {(78 x 6) + 3} = 212

@ 184 - 78 x {(6 + 3)} = 212

@ (184 -78) x {6+ 3} = 212
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